سلام وقت بخیر
رشتم برق هست گرایش کنترل پروژه برای درس کنترل مقاو هست. 
یک سیستم دینامیکی مرتبه سه مانند یک سیستم الکترونیکی که کارای داشته باشد .
بعد از به دست آوردن تابع تبدیل و خطی کردن  آن در متلب این چهار بخشو از ما می خواد
در قسمت اول : [image: ]در بخش اول این پنج قسمت را از ما میخواهد که هر قسمت جدا  باشد و توضیح داده شود که سیستم پایدار است.
مانند مثال  زیر در نمدار بد که برحسب L باشد.
[image: ]
در بخش دو:
در بخش دوم هم از ما این 4 قسمت را از ما می خواهد که  از همون سیستم از p یا pi  آن از قضیه خاریتانوف  استفاده کنیم.

[image: ]


در بخش سوم :
[image: ]
برای همون سیستم از لوپ شیپینگ استفاده کنیم
که پاسخ را در متلب ببینیم
که مانند شکل زیر که در درس توضیح داده شده است.
[image: ]
خسته نباشید
اکیدا در هر قسمت توضیحا داده شود
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Project: Report 1

Using MATLAB for your selected system:
1) Plot the step response,

2) Plot root locus, and discuss the system stability,
3) Plot Bode diagram,
4) Find phase margin and gain margin,

5) Plot Nyquist diagram.
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num=[0 0 0 3];
den=conv(conv([1,0],[1,1]),(0,1,2]);
L=tf(num,den);

bode(L)

[Gm,Pm,Wcg,Wcp] = margin(L)
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For your selected system:
1) Design a conventional P/PI controller,

2) Determine a deviation range for one or more parameters of system, such
that the designed P/PI controller cannot satisfy the control objective.
3) Find the P/PI parameter(s) using Kharitonov theorem,

4) Analyze the closed-loop system for both P/PI controllers,
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Consider your dynamic system. Using loop shaping concept
design a controller K(s) to satisfy:

K,>10 and PM > 40°
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Phase-lead Compensator: Design Example
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Step 1: To meet the specifications for quick
response and steady-state characteristics,
determine the value of gain compensation K.

Gain compensation: K =5

Open-loop transfer function:

i(x):L
s(s+1)(s+10)
Gain crossover frequency:
@, =2.1>2[mds) =) @, 22 [radis] V 10" 1o

radss]
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Phase-lead Compensator: Design Example

Step 2: Draw a Bode plot of the open-loop transfer function L(s)= KP(s)using K in
Step 1 and evaluate its phase margin PM . The required phase lead amount is the
difference between the given phase margin PM and this one ( ¢ PM - PM )s
Considering an appropriate margin (e.g, 5 deg. or more), setitas ¢4, = ¢ +5°%r

more. 0 ————rrrr—— 7
Ph in: =136 £ o L .21}
ase margin: =13.6" g
e . i P ;
Required phase margin: PM ~ 4(° -20 H
~ — 238 3
= j=pM-PM i
=40-13.6=26.4° i
(Required phase lead amount) = -150 —
_1s0—PM =13.6"
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